Test Date __________________________                                         Name_____________________________

Unit 3: Test #1  Meiosis and Mendel
Chapter 6 Introduction to Genetics


Assignments that will help you when studying 

· All Chapter 6 and 7 Powernotes
· Chapter 6 Crossword #1 Meiosis
· Chapter 6 Vocab Quizzes #1 Meiosis and #2 Mendel
· Punnett square practice

· Probability lab

· Making the face activity and questions

1) What is a Somatic cell

2) What is a gamete

3) What is a karyotype and how many chromosomes are in a human karyotype?

4) What is a homologous chromosome, sex chromosome, autosome?
a) Relate above terms to a Karyotype

5) Who is Gregor Mendel, what did he study, and why?

6) What are the two genotypes of a pure bred P generation cross?

7) Compare and contrast the terms-P generation, F1 and F2 generation.

8) How do the terms pure bred and heterozygous fit into the above question?

9) What is a gene?

10) What in an allele?

11) What did Gregor Mendel conclude about the traits of pea plants?

12) What is the principle of dominance?

13) Describe the following terms and provide and example for each

a) Genotype

b) Phenotype

c) Dominance

d) Recessive

e) Independent assortment

f)  Segregation

14) Cross the following and determine the phenotype ratio and genotype ratio of the cross Yy x Yy

a) If Y= yellow and y= green for pod shape 

15) What three things do a Punnett square show provided an example from question #14.

16) Relate the following terms to the term alleles

a) Homozygous

b) Heterozygous

17) What is the genotype of a male?                       Female?_____________
18) What is a genotype and a phenotype

19) What is probability use an example to support your answer? (see section 6.5)

20) What is the probability of a coin flip?

21) What is the probability/percentage of a male offspring?  Hint: use genotypes from #17

22) What is the probability/percentage of a female offspring?

23) What is a gamete and provide an example
24) What is the “n” number of a diploid cell? (beginning of meiosis)

a) In a human

b) In a fly

c) In yeast

25) What is the “n” number of a gamete? (end of meiosis)
a) In a human

b) In a fly

c) In yeast

26) If you crossed a RrYy x RrYy what would the phenotype ratio be.  (pg 103 of interactive reader)

27) What does the law of independent assortment state?

28) Identify the diploid and haploid number of a human 
a) When are human cells diploid 

b) When are human cells haploid

29) Compare and contrast the process of mitosis and meiosis
a) What is the end product of each

b) What is the “n” number at the beginning and the end? Why?

c) What types of cells go through each

30) What is crossing over 

a) When does is occur

b) What does it cause?

31) When during meiosis does the two homologous chromosomes line up?
32) Draw homologous chromosomes, label-sister chromatids, non-sister chromatids 

33) A Zygote is formed when the sperm fertilizes the egg, how many chromosomes does it have?
a) Is it 1(n) or 2(n)? Why?
Chapter 7 Extending Mendelan Genetics
Assignments that will help you when studying 

· 7.2 PowerNotes
· Using a pedigree notes and practice
· Making a face

· Human traits

1)  Define and provide an example of each of the following inheritance patterns

a) Multiple alleles

b) Incomplete dominance

c) Polygenic inheritance

d) Epistasis

e) Codominance 

2) Explain how environment interacts with genotype and affects the phenotype of an individual. 

3) What are autosomal genes?

4) Where are autosomal genes located?

5) What are sex-linked genes?  
6) Where are sex-linked genes located?

7) How can you identify sex-linked genes by looking at a pedigree?
8) Why is colorblindness more common in males?

9) What are the symbols of an affected and unaffected male and female on a pedigree chart.
10) What is a human pedigree used for. 
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